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CSCI 51, S’09


CSCI 51 (S ’09), Stough, Problem Set 6 (IN CLASS)
Practice questions for the midterm.

This home work is worth 75 pts, 3%.

Due Tuesday, March 31, 2009
The test consists of three sections: first, a section of simple responses to test your grasp of the terminology mostly; second, a section requiring you to understand code and certain characteristics of its input and output; finally, a section requiring you to write code that addresses certain problems.

The sections are progressively more difficult and more valuable in the final grading.  
Section 1 (25 points )

Fill in the blank (2 point per):
________________- the operator used to instantiate objects.
________________- data items that make up an object
________________- Increase the value of a variable by one.
________________- the i’th element of the array theArray
________________- A loop whose condition is always true..
________________- A variable that is declared inside a method and that exists only within that method.
________________- An expression involving multiple dot operators likely involves this.

Short response:
(3 points) List three types of methods for a class:  

(4 points) What are the four parts of a loop structure: 
(4 points) What are the four parts of a method header? 
Section 2 (50 points)
(15 points)  Bubble, insertion, selection sort:  Show the following list of integers after each iteration of the outer loop.
15      6      24      19      7                  15      6      24      19      7                  15      6      24      19      7
(15 points) Given that the following code is correctly inserted into a program, state its entire output as to content and form: 

public static void bushie(int x, int y)
{
    String s = "";
    switch ((x + y) % 5)
    {
       case 4: s = " stand"; break;
       case 3: s = " bluish"; break;
       case 1: s = " not"; break;
       case 2: s = " aggression"; break;   
       case 0: s = " forever"; break;
       default: break;
    }
    System.out.print(s);
 }

 public static void main(String[] args) throws IOException
 {
    int x = 3, y = 4, z = 4;
 
    if ( z < x && y < z ) System.out.print("Go Heels");
    else System.out.print("This");
 
    while (z != 0)
    {  
       if ((x - y) >= 0){
          if (x < 9) System.out.print(" will");
          else bushie(x,z); 
          x += 4;}
       else {bushie(z,x); x += 2;}
       z --;
    }
    System.out.print(".");
 }

(20 points)  
a.   Write a method that returns an array of ints containing consecutive powers of two.  That is, if a is the returned array, then a[0] = 1, a[1] = 2, a[2] = 4, a[3] = 8, a[4] = 16. Make your solution efficient.
b.   Write a method that accepts an array of ints and returns the index of the second smallest element.
